7.6) Proving trigonometric identities



Worked example Your turn

Prove that: Prove that:

tzg_cotB—tanH tan 20 =
c0 - 2 anev = cotd — tan 0

Proof




Worked example Your turn
Prove that: Prove that:
—sin20 o 1—c0529_t 9
cosZQ—l_CO sin2 an

Proof



Worked example Your turn

Prove that: Prove that:
cot2x — cosec 2x = —tanx cot2x + cosec 2x = cotx

Proof




Worked example

Your turn

Prove, starting with the left-hand side:

tan 2x + sec 2x =

CoSXx + sinx

COSX — SinXx

Prove, starting with the right-hand side:
COS X + sinx

tan 2x + sec 2x = :
COSXx — Sinx

Proof



Worked example Your turn

Show that: Show that:

1 1 3 1 1
sin* 9 = —ECOSZQ +§cos49 cos49=§+—c0520 +§cos49
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Worked example Your turn

By writing cos x = cos (2 X g), prove the By writing cos x = cos (2 X g), prove the
identity identity
1+ cosx tz(x) 1—cosx_t Z(x)
T—cosx 0 \2 T+cosx 0 \Z

Proof




